| Efficiency vs Dxy |
0.2
<

5 S
B | A
< e
@.16:—----§------€ ------- R ISR iy SR
K R S A R A T S S
KT e 01| IS SRS A SR S
© oo : : : : : : : :
0.12 -t b
PR ———
008t
008

e e oo o o o
000 A

1Q
T
A
7% S0 N WS W | S W W
0.8

B T50-15-10 =5 0 5 10 15 20 25
TP dxy (cm)

Ratio

—=— DQM_V0001_R000000001__Global__CMSSW_ckfnocut3_RECO
| Efficiency vs Dz | —e— DQM_V0001_R0O00000001__Global__CMSSW_mknocut3_RECO

05 —— DQM_V0001_R000000001__Global__CMSSW_mknocutinoclean3_RECO
N U. ; T T T
> : :

7P| NS B SN SN S| S
> : : : : :
0
[&] . . . . N
.35 ! R frorereeeee AR A
o : : : : :
0.8
0,25t

B30 2 | Y 10 20 30
TP dz (cm)



	Contents
	Page 1


